
https://www.passapply.com/e20-545.html
2024 Latest passapply E20-545 PDF and VCE dumps Download

 

 

 

E20-545Q&As

VNX Solutions Specialist Exam for Technology Architects

Pass EMC E20-545 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/e20-545.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

 

 

E20-545 PDF Dumps | E20-545 Study Guide | E20-545 Braindumps                                1 / 4

https://www.passapply.com/e20-545.html
https://www.passapply.com/e20-545.html
https://www.passapply.com/e20-545.html


https://www.passapply.com/e20-545.html
2024 Latest passapply E20-545 PDF and VCE dumps Download

QUESTION 1

Refer to the exhibit. 

Once you commit to create the share, what is the expected outcome? 

A. A local share on the VDM is created. 

B. A global share on the VDM is created. 

C. A user share on the VDM is created. 

D. A share is not created. 

Correct Answer: B 

 

QUESTION 2

A customer has an environment consisting of 20 classic LUNs of 150 GB each that hold data from a custom application,
and 5 thick LUNs of 500 GB each that are used for a database application. Free disk space on the system amounts to
500 GB. 
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The customer runs a scan of the classic LUNs each night to check for data corruption. The application must be shut
down in order to run the scan. Scans are taking too long to run, and production is affected. The customer asks for a
solution to the problem. 

What should you propose? 

A. Create VNX Snapshots of the LUNs each evening, and run the scan against the Snapshots 

B. Clone each of the application LUNs each evening, and run the scan against the Clones 

C. Clone each of the application LUNs each morning, and run the scan against the Clones 

D. Create SnapView Snapshots of the LUNs each evening, and run the scan against the Snapshots 

Correct Answer: D 

 

QUESTION 3

Your customer plans to use iSCSI connectivity for their new ESXi server. They want to enable CHAP so they ask you
which CHAP methods can be used with VNX arrays. 

What should be your response? 

A. Enable Mutual Chap only 

B. Enable One-way CHAP or Enable Mutual CHAP 

C. Enable One-way CHAP only 

D. Do not enable CHAP with VNX arrays 

Correct Answer: B 

 

QUESTION 4

A customer has a requirement for backups of VNX Pool LUNs but is concerned about impacting performance on the
production LUNs. 

How can the impact on performance be minimized? 

A. Create VNX Snapshot of production LUN Mount VNX Snapshot on backup server 

B. Create SnapView clone of production LUN Mount VNX Snapshot of clone on backup server 

C. Create MirrorView clone of production LUN Mount MirrorView clone on backup server 

D. Create SnapView Snapshot of production LUN Mount SnapView Snapshot on backup server 

Correct Answer: B 

 

QUESTION 5
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A Storage Administrator wants to use all available bandwidth to connect a VMware ESXi host to a VNX. They decide to
use two identical CNAs as well as two NICs. They do this so they can utilize FCoE for some VMs and iSCSI for other
VMs. They install different instances of the Unisphere Host Agent on each VM. The performance of the iSCSI VMs is
lower than expected. 

What can be done to enhance storage access performance? 

A. Replace the NICs in the physical host with iSCSI HBAs. 

B. Using FCoE on some and iSCSI on other VMs on the same physical host is not supported. 

C. Do not mix FCoE and iSCSI on the same physical host. 

D. Disable Jumbo Frames on the Ethernet SAN. 

Correct Answer: A 
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